



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right) - \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{125}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) = \frac{4}{25}$$

$$\left(-\frac{1}{5}\right) - \frac{1}{3} = \left(-\frac{8}{15}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{4} = \left(-\frac{233}{500}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{7}{24}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{5} = \frac{3}{40}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{4} = \frac{41}{100}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{5}\right) = \left(-\frac{2}{125}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{67}{125}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \frac{2}{5} = \frac{11}{25}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) = \frac{29}{80}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) = \frac{5}{24}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{3}{40}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{25}\right)$$